Hcnosib30BaHUe CBOMCTBA OTPAaHUYEHHOCTH QYHKIUH y=SinX U y=COSX

NPU pelieHUU YPaBHEHU U HEPABEHCTB
e PewunTtb ypaBHeHUA:

cos x = 14x°

sin x +sin 9x =2

sin9x+cosbx+2=0

sin 6x — cos 4x = 4y’ +4y+3

(sinx) ™S = 1+ctg’x

cos 3x = 2-cos g X

COS X + COS™X + COS 7X = 3

cos(rtvx ) cos(mvVx —4)=1

(cos z - 2sinx ) sinx + (1+ sin E -2cos x) cosx =0

W L N o U EWDNPRE

10. HawTtu BCe napbl Yncen (x;y), KOTopble YAOBAETBOPAOT YPaBHEHUIO
(cos®x + 1/cosx )% +(sin’x +1/sin’x )? = 12+§ siny.
e PewwuTb HepaBeHCTBa:
11. cosx—y>—,/y —x2—120
12. my - 21 + 2arcsin (x> +y) 2 0.
e VYrBepxaeHue. —vVa? + b? <asinx +bcosx < Va? + b2,
13. Mpwu KaKnx 3HaYEeHMAX NapameTpa P HePaBEeHCTBO
x>+ 2px + 4p2 —5p+3<4siny—3cosy umeet npu 0<y<2m
eANHCTBEHHOE peLleHme.
14. Tpn KaKNX 3HAYEHUAX NapameTpa a HEPABEHCTBO
|a sin2x — cos 2x+2+a|<3 BbINOAHAETCA ANA NOObLIX 3HAYEHMI X.
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